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11x6=66

66x2=132
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( D )2. In the triangle on the right, what is the sum of <1, £2,and £3?(A)180° (B)210
° (C)270° (D)360°

<fE47>

180°%3=540°

540°-180°=360° 2

L1+ L2+ 23=360° 0 iE D o r\
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16-1=15
15x15=225
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4+3+5+442+3=21 N
21+7=3
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60+5=12

12x3=36
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2023+(8+9)=119

s+ =119x8=952

&2 =119x9=1071
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( D )11. How many points are there in the fourth figure below? (A)23 (B)24 (C)25 (D)27
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7+6+5+4+3+1+1=27
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(5+10+9)+2=12
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( C )13. Which of the following figures has the greatest number of axes of symmetry?
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(DA E 5 00 X Y ZZ 30482 vi— 4t /2?2 (A)X=Y=Z
(B)X+Y=Z (C)Y+Z=X (D)X+Z=Y
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18 chFdc=1~2-3-6~9~18

24 HF =1 234681224

2 H=12-3+6
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20+(3+1)=5

5x3=15

8 B=50x5+1x15=265 > i C »

(B )17. There is a pile of iron pipes, the bottom layer is 19 pipes, each upper layer is
reduced by one, and the top layer has only one pipe. How many iron pipes are there
in this pile? (A)200 (B)190 (C)150 (D)140
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1+2+3+..+19=(1+19)x19+2=190
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<f#7>

4x3+3x1+2x3=21

5250+21=250 » i C o
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(45-27)+(2-1)=18

FIT e B b E=18x2=36> ¢ K =18x1=18 » & T Kk =36x2=72

= £ 4 =(45-36)+(27-18)+(81-72)=27 » » i C -
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9x55+6x(55-15)=495+240=735
735%30=22050
22050-19350=2700
2700+[(55-40)x15]=12
30-12=18 » i D o

( B )2l. —:}uéﬁiﬁﬂ—:}aéﬁ Bted R en 124 4F > 20 & p gl I
T RN E S T RER S X ;

(C)110 (D)132

<fiEt7>
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q=3+(9-6)=6 ; v=5+(6-4)=7
r=1+(6-4)=3 ; =7+(9-6)=10
p=6+(10-9)=7 ; s=10+(16-15)=11
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( C )23. The right column is the division of positive integers, the
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remainder is 7, and the number in the bold box is not 0. Find a ) [
a+tb-c-d=? (A)3 (B)4 (C)5S (D)6 [ ]
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15! #cs 2~3~5~7~11~13
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28-13-a=11 > a=4 > i B o

<¥ 2>

15'%8_9 02 #ic
1+3+7+6+7+a+3+6+8 H_9 i #ic
41+a=45 > a=4

r A EGES)
Taiwan Preliminary (Grade 5)



S P EHQS AR5 A E 504 FE N

|

‘53
I
J
%
B
>

L ¥¥- Fe A2 T  F2 PR R - § 110 [Tonfac

BREFRFEETAT-T P aE PR e ) A0k | L FRAAERS S
PoFEERE A RBERF-LEE - GR)EE —?J&’ 6~8 4

B AR EIRT R PREER S AN R cFE? |2 ALFNET -4
PALSNAE A AR S A IR o K Sl RS

<fa 7> 3EkBFEERAL D
(1)40+8=5 CEHD A B8 L Bk
30x5=150 /(2 2 4 30 #)) FER AT R 8 L2k BiRL

(magm%%s&’3§—ﬁﬁkyﬁ%¥%’g@@amkﬁﬁ84 -

40+5=8()
30x8=240 §)=4 & 48 -
(124304 (2444

2 AREfeit 191 PRE % E g blanid Ak AR 74 & 0 W S 74+1911=1985
B4 EH 2022 8 > rL 4 8 2022-1985=37 o st (o2 4 EenE g 12 &
2ot s il A R 13 R AT A5 02

[ » e E g ek i B ik

@ iz B #F f 8

sl 16: 8 0012

3 Hff gy 10

@

I
T fs — 113‘34‘7'% » * % ‘E‘ﬂ}ff'g{/)é“‘—i > M4 g A E s AR (ﬂlbj)'f‘ e i Bk
FoowA ] 2 S SRR EL S Rl BT KRR R R AL
<>
A= A4 2022-12=2010
(13x8+16)x125+10+_]-2010=1312
120x125+10+ ]-2010=1312
1500+ ]-2010=1312
[ =1312+2010-1500=1822

%: [1=1822

r A EGES)
Taiwan Preliminary (Grade 5)



